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HE: AQIGIE PH2Y
SRl MHS HAHY X4 CERED
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hus2
OFSI= X1t 0FZHF(H: 1544)
12,0008 = 44 48 0 48
OFQUSXD L2HUY 141,008 « 794 987 0 987
OFo=NY 2F 233,0008 * 5JH 1,165 0 1,165
OFQUSXD 4LBEHOIE 814,008 + 204 1,628 0 1,628
OFQ=SXD 4LBAX 270,008 + 8} 2,160 0 2,160
OFSID QAN R
330,000% * 2074 6,600 0 6,600
OFoI=XD 430 42
150,000 * 174 150 0 150
SEMFMD AHEST 19,0008 * 1f 199 0 199
OSZMAMD BOIASK 151,008 * 470 604 0 604
OSZMBHI LSHEIY 141,008 * 9N 1,269 0 1,269
SEMFHD HMM(NASR)
187,0002 * 474 748 0 748
OSEMBHI OISAHEY 142,008 + 4%} 568 0 568
OSSMARD ATH(RAS)
270,0002 * 4JH 1,080 0 1,080
OSZMAMD 6SHLIS  261,0008 * 470 1,044 0 1,044
OsSMARD THEIE (H: 1760)
232,0008 * 1204 2,784 0 2,784
OSSMAMD HF2 22,0002 * 1024 220 0 220
OSZMZRD 02 8HH: 1730)
14,0002 * 47 56 0 56
OSSR TAEL(H1730)
27,0008 * 24 54 0 54
OS=4BH I THEIE (H: 1560)
165,0002! * 834 1,320 0 1,320
OSSMAMD TAEL(H: 1544)
31,0008 * 174 31 0 31
OSZMZARD 02 8HH: 1544)
12,0002 * 2JH 24 0 24
OSELIHD &1} 2,800,0008 * 1% 2,800 0 2,800
OSEMZHDY AIY 42T
150,000 * 174 150 0 150
OMSD TEIMA(H:1160) 156,008 * 5f 780 0 780
ONSI EAEL(H:1144) 23,0008 * 5 115 0 115
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OKSD or&2t 22,0002 * 4D 83 0 83
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OAZTH OH2HH(H:1730) 14,0008 * 44 56 0 56
OAST M (NAE) 187,002 * 10} 187 0 187
OAST ATHHAE) 270,002 * 14 270 0 270
OA=I WA 42T 150,000 * 17} 150 0 150
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O3 He 420,0008 * 1cH 420 0 420
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OFE X oI 150,000 * 1k 150 0 150
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CEE I E=ETIN 650,000 * 10} 650 0 650
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OUctEH 0I8===2 20,000& » 50 1,000 0 1,000
OHERFA 3,100 0 3,100
O AHAMA el 10& * 1,00000 = 10& 100 0 100
Os32clefeted & 3,000,0008 * 12 3,000 0 3,000
OZeNENF ANAs8YI 425 1,750 0 1,750
(OF=FS] 750,000 » 18t A 750 0 750
oced 200,000 * 5AIE 1,000 0 1,000
OXNHHEUANE =3 1,551 0 1,551
Ost=5€2 68 1,551,000 1,551 0 1,551
O3=Ma GERFA ZE|
6,000 * 2% » 50 600 0 600
02 3222l 27,289 0 27,289
OX=xt2tel 4,720 0 4,720
(O)==4-=! 3,960 0 3,960
-SEX e 600,000& * 1CH 600 0 600
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-st=i e 820,000& * 1CH 820 0 820
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-SEX S8 120,000 * 1CH 120 0 120
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-st=X e 200,000& * 1CH 200 0 200
-st2x =¥ 55,000& » 104 55 0 55
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202 04l 800 0 800
01 SLHOYI 800 800
O3=Me R &0
20,000% = 22 » 20€ 800 0 800
405 TtobH S| 6,500 0 6,500
01 AL ESFH SH 6,500 0 6,500
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O& 37| 6,000,000& * 1CH 6,000 0 6,000
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OJtds Hazxtedzg CrelFAXIDl 2
250,000& * 2JH 500 500
OJds HZEZ2E CelXAXI| &
250,000& * 2JH 500 500
OJds SHEZZ2E CelXAXI| 2
250,000& * 2JH 500 500
OJNES NMEINBZZE2E ChelSTAKID 2
& 250,000& = 2H 500 500
OJtds HACZZE CielAXII] &
250,000& * 2JH 500 500
OltZs &L LeZ2Y CelSHALXIDl ¢
250,000& * 2JH 500 500
OJds 9dentseE 2 CelSTAKID 2
& 250,000& = 24 500 500
OJtZs thd=FeZ2 2 CelStALXDl ¢
250,000& * 20K 500 500
OJlds S22 CelXAXI 2
250,000& * 2JH 500 500
OJgds HEd=Z1HXNeB =Y Crel ALK D]
- 250,000& = 24 500 500
OJds ItdF36RNeZE=2Y el ALKl Dl
- 250,000& = 2K 500 500
OtZs IHZELU7HIEE 2L CrelSFA
J = 250,000& = 2K 500 500
OJtZs IHZEUeHIEE 2L CelSFAX
J = 250,000& = 2K 500 500
OJtdas NBE=ENRRB =Y Cel X ALAIX
- 250,000& = 2H 500 500
OtZs sHAOMEZZ2EY CHelSHALKIDl ¢
250,000& * 2JH 500 500




SN B Fo=X Y
ZE: AYoD BIH LBME B
el BOIGHD IS LOOIIRRAL KT EERED
SN HH - (EH) - HRAY - BES 0] &b 2 p/E-T Hl DS 2
OJlZS sSHE0I863 Y Cral ANl 2
2 250,0008 * 2JH 500 0 500
OJIAS SetHILLIOBEY Cral PAIKID| 2
2 250,0008 * 2JH 500 0 500
OJAS WRAVCILOBEY Cr2lFAIKID| 2
2 250,0008 * 2JH 500 0 500
O=YIS F=JES2Y TV(L.00)
1,400,002 * 1CH 1,400 0 1,400
O=%YIS F2EI2Y LI 7Y
1,000,0002 * 1CH 1,000 0 1,000
OSHS YHEY2Y YZD 2
2,000,008 + 1k 2,000 0 2,000
OSHE 42T SAYE 7Y
500,0002 * 1CH 500 0 500
0SS BHYZY MRYAX 7
300,0008 * 1CH 300 0 300
OSdES M4FWIEIEY LY 7Y
300,0008 * 1CH 300 0 300
OSdS RYBREIEY TV 7
1,500,0008 * 1CH 1,500 0 1,500
OS&ES MFYRY 82I| 2
150,0002 * 2CH 300 0 300
OSHS SAUREIRY AXY X
300,0008 * 1CH 300 0 300
OLMIS 348 2 F4I| 7Y
,000,0008 * 14! 1,000 0 1,000
OSM2S UAAZY 64 HAAX 2
1,000,0002 1,000 0 1,000
O=U1S #H2X0Z2Y 2RE4I| 2
500,0008 * 1CH 500 0 500
OS01S SRS EY UMDl 2
550,000& * 1CH 550 0 550
OSU1S ME=ENSEIZY ANLZD
2 1,500,002 * 1CH 1,500 0 1,500
OSU1S ME=EINISEYZY SAAKDI
- 550,000& = 1CH 550 0 550
O=U1S SUH2EA2Y YZD 2
,500,0002 * 1CH 1,500 0 1,500
O=0i1s osUSULITEZRY 421 2
o ,500,0002 * 1CH 1,500 0 1,500
O=U1S OISHHE L IREAZY LUAX
ol 2y 50,0002 * 1CH 550 0 550
OSU1S HaeZ2Y HAY X 2
300,0008 * 1CH 300 0 300
OSU1S HAEF2Y LAAXI| 2
550,000& * 1CH 550 0 550
OSU1S MHDIZEZZSY 002 2
,000,0008 * 1CH 1,000 0 1,000




SN B Fo=X Y
A AYED BIIH LEME B
ol BOIED MEE LOGIERAL KB CERED
SA - BAEN) - NRAY - LS 0l &F 24 o1E o HRE2
O=01S MEHDIZEZ2Y ZUAXI 2
= 550,000& « 1CH 550 550
O=U1S sg@t2dox 7
300,008 * 1CH 300 300
OSU1S S0 MRAEI0HLe, =26, AR 2
EX0, 120, 2SS 22X 017 Y
10,200,0002! 0,200 10,200
O=YIS 2YZIJeA0| 7Y
1,700,0002 * 1CH 1,700 1,700
OJFS N2 TV, &R 2
2,500,0008 * 141 2,500 2,500
OLH2S £E27 K02 7
3,000,008 * 14 3,000 3,000
OJBS JHAeBBNYOBEY L2l AXID|
2 250,0008 * 204 500 500
405 XtatE SHI 37,750 37,750
01 TR 2B St 37,750 37,750
oz=z2% 37,750 37,750
OZ=2S 222 002 7Y
2,000,008 * 1k 2,000 2,000
OF=ss 229 V7Y 1,000,000 = 1CH 1,000 1,000
OFES F2Y ®IUYALRY
2,000,008 * 17} 2,000 2,000
OSYSEHE F2Y ADIAT 7
2,000,008 * 174 2,000 2,000
OZ%2s AZA2Y AOIAN 7Y
2,000,008 * 174 2,000 2,000
OSZ2EIE FHARY HAUN 7Y
300,0002 * 17 300 300
O=%2s3S =8Z2Y 430 DA
3,400,0008 * 141 3,400 3,400
0222 YUBRY A0AX 7Y
2,000,0008 * 1} 2,000 2,000
OLM2E HEF2Z 002 7Y
1,000,000 * 12 1,000 1,000
O=%2s SYY2Y A0eR 2Y
2,000,000 = 14 2,000 2,000
O=%2s 2YF2Y F4I| 7Y
1,000,0009! * 17 1,000 1,000
O=%2s 2YY2Y FIlgALs 7Y
300,008 * 174 300 300
OSHS EHZ2Y WD 7Y
1,000,0002! * 17 1,000 1,000
OS2sIS FBA2Y YID 2Y
1,000,000 * 17 1,000 1,000
O=YIS SNIZY B4I 7Y
1,300,000 * 17 1,300 1,300
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2N B2 FUSAD
HH: AU D HIE LEME X
CHol: BOISID BRE LOGIIZIAL M (ctel:&2)
SA BB (S) - MRAY - BAS e
OTN2E &Z27 329 Hell Ax
7,000,00020 * 14! 7,000 0 7,000
BH2AAH (2L TS D) 46,828 16,738 30,090
=l 46,828 16,738 30,090
(2x)o1=22H| 46,828 16,738 30,090
201 Yy Ay 24,638 7,303 17,335
01 AL 22l bl 16,034 6,653 9,381
O Ve ssa sy 3,235 0 3,235
OF4Il A2 32,4002 * 62 195 0 195
ONSEE ¢ 3,040 0 3,040
~= AT 25,3002 * 1002 2,530 0 2,530
- 170,0002 * 3} 510 0 510
0JlEYRLHE S| 7,183,0002 7,183 1305 3,878
©JIEAH (S 2H) 5,616,0002 5,616 348 2,268
02 Zz2gH 8,604 650 7,954
0SER3 8,604 650 7,954
e 2702 * 1,200 * 6% 1,944 270 1,674
OSII(HMQAEIT AL DEHR =)
1,90080 * 50024 * 68 5,700 380 5,320
ogEe3 1,6008 * 10024 * 62 960 0 960
202 01| 14,040 370 5,670
L O 14,040 370 5,670
©JIE=Z| 14,040,0002 14,040 370 5,670
203 Y2 E X Y| 2,100 065 1,035
PEEEEES 2,100 065 1,035
oRMRgAREAY| 2,100,000 2,100 065 1,035
405 Xt &5 S 4| 6,050 0 6,050
NUSEFSY 6,050 0 6,050
ONSA ARFI| 7 6,050 0 6,050
OCIXIgtn 2t 500,0002! * 1CH 500 0 500
ogalylH 1,000,0002 * 1CH 1,000 0 1,000
oYE=3] 50,0002 * 13CH 650 0 650
eLE=5] 1,500,0002 * 1CH 1,500 0 1,500
OM=2l 600,00021 * 1CH 600 0 600
OA8 W=D 500,0002 * 1CH 500 0 500
OZ e 500,0002 * 1CH 500 0 500
CHEIE=2-12p] 80,0002 * 1CH 800 0 800




N & 0l & Av S Z M A
2014 E £ 1 8 uraH HA
SN SER SEMSHD
HE: sEM A B
Sel: DEI SMB M CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
S9T SENFND 436,534 90,915 345,619
SEN 2¥ Lst 4,494 3,614 830
DB 5642 MO 1,420 540 830
(EF)ts83Y ¢y 23H(5) 1,420 540 880
202 04t 480 0 480
01 =LHoi bl 480 0 480
Osgee =T ofyl
20,0008 * 2% * 302 * 80% * 1/2 480 0 480
405 Tt aHF St 400 0 400
01 AU 2B St 400 0 400
o= AT UHINHOA
400,000 * 1CH 400 0 400
sETE F4 U B2 401,744 78,676 323,068
NN 84 2 25 401,744 78,676 323,068
(HF) M 202(S) 13,471 9,471 4,000
201 YEr2 | 10,541 8,041 2,500
01 AL 22l 5,310 3,810 1,500
OB T =l 3,000 1,500 1,500
Ogst= 90,0008 * 20¢ 1,800 900 900
O &3t 60,0009 * 202! | 1,200 600 600
02 232l 5,231 4,231 1,000
O E TS HH R 3,281 2,281 1,000
ouesHI 2,000,008 * 1k 2,000 1,000 1,000
405 TtoHE St 1,500 0 1,500
01 AU 2EH St 1,500 0 1,500
©UltIH ol & 400,0002 * 3CH 1,200 0 1,200
s253)) 300,0008 * 1CH 300 0 300
(BF)t24 Bal(2) 165,800 61,432 104,368
201 YEr2 | 4,080 1,000 3,080
01 AL 22l 4,080 1,000 3,080
©J242el DRI Y2
440,000% * 73] 3,080 0 3,080
206 T2 bl 1,288 0 1,288
01 2 bl 1,288 0 1,288
24 el %X 1,288 0 1,288
OY A 8,400% + 60 * 25 1,008 0 1,008
ol g 7,000 * 40 280 0 280
401 N EHIL2THEI 160,432 60,432 100,000
01 Al bl 160,000 60,000 100,000




SN SER SEMSHD
B MR X4 Y 2
Sl NUNE 84 Y 25 CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
O+ mAzel 100,000, 0002 100,000 0 100,000
(BF) Se2 22l (&) 200,000 0 200,000
401 NEHIL 2 THYI 200,000 0 200,000
01 A&yl 198,800 0 198,800
224 SHE FU AL
190,000,0008 * 14! 190,000 0 190,000
ORDA SHE FUIMY AALAY
8,800,000& 8,800 0 8,800
03 Al& S THHI 1,200 0 1,200
CNPEEVL] 1,200, 0002 1,200 0 1,200
(HF)MXEE5IHE) 6,000 0 6,000
201 YBt2 | 6,000 0 6,000
01 AbR22IH] 6,000 0 6,000
ONMZZIBAY 3,000,0002 * 24 6,000 0 6,000
(BF)ZLZHAL(E) 8,700 0 8,700
101 Q1248 7,200 0 7,200
YPENEEVEEES 7,200 0 7,200
OJNAMI2ZNE B4 7,200 0 7,200
OQI2AHI(21=e) 50,0008 * 28 » 652 6,500 0 6,500
o4nEE2 700 0 700
Rl 6,500,000 * 4.5% 293 0 293
~R0AYHR Y
6,500,000 * 2.945% 192 0 192
“EIIQUBHRYI 485,008 * 6.55% 32 0 32
LT 6,500,000 * 1.5% 98 0 98
SeHEER RS S
6,500,000 * 1.3% 85 0 85
201 YBt2 | 1,500 0 1,500
01 AbR22lH] 1,500 0 1,500
OBLIH TR 28 1,500, 0002 1,500 0 1,500
YHSAHH (SSTH ZHRSD) 20,476 7,905 12,571
o= 20,476 7,905 12,571
Jl= 2l 20,476 7,905 12,571
201 YBt2 | 9,516 3,885 5,631
01 AbR22lH] 8,296 3,274 5,022
oYeL+d S I=AY| 5,086, 0002 5,086 2,086 2,970
CRIEETIEHI 3,240,0002 3,240 1,188 2,052
02 232l 1,220 611 609
OSEMNYREN 2RI 1,220 611 609
Ot 2708 * 1,5008 405 203 202




SN BEHT SEMBHD
H: HH2HAH(EYFE ZWLUSER)
& 123l (Sl & &)
SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" HlnE2
OsI 1,900& » 300 570 285 285
Osolets 1,630& * 150 245 123 122
202 O4dl 7,560 ,970 4,590
01 = LH o4 4l 7,560 ,970 4,590
OJIEZH 7,560,000& 7,560 ,970 4,590
203 YR =2l 1,500 ,050 450
04 EAS2IYRFLH| 1,500 ,050 450
O©J| & (15210138t) 1,500,000& 1,500 ,050 450
405 KHabH S| 1,900 0 1,900
01 AL ESFH S 1,900 0 1,900
OFSE=F<Enp)| 300,000& * 1CH 300 0 300
oHZ | 200,000& = 1CH 200 0 200
OFMH DI 400,000& = 1CH 400 0 400
OoZetzeldIl 500,000& = 1CH 500 0 500
oO&ZDI 50,000& = 10CH 500 0 500
s ZHA s 9,100 0 9,100
AHcHEds ALY 9,100 0 9,100
(B )T ANsEAHAHELHSFIMS(EL) 9,100 0 9,100
307 21201 A 9,100 0 9,100
02 22t E xS 9,100 0 9,100
OZAN=sEHNANBLESFAGFA(USHA)
9,100,000& * 14 9,100 0 9,100




= A
N & 0l & AF & & A A
2014HE = 1 8 sl HA
SN BER N
Za: XN 22
ool MEE UM 2 (29l 8)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
S8 MR 576,042 533,227 42,815
N A 2el 537,871 513,392 24,479
s NgA 2 324,390 300,811 23,579
(EF:)NLA 20 & E2(E) 296,227 272,648 23,579
201 2Bt2 252,086 229,107 22,979
01 At2 2t el b 87,470 64,491 22,979
OXNLNREL 2 =& 87,470 64,491 22,979
O&JIZ2AXAM 75,000& = 4704 Xt 35,250 27,750 7,500
O=AI21AXAN 75,000 = 17048 Xt 12,750 4,725 8,025
OMIDYE o HRUSHT FHYSKA
75,0002 » 80&f Xt 6,000 4,725 1,275
OFSH S dDL2s DNA
75,000& » 75&F &t 5,625 4,725 900
OdIsF 50& + 25,0000H 1,250 1,165 85
O=AEX 18,0003 * 1804t At 3,240 3,006 234
O&EU 260,000 * 40K 10,400 8,580 1,820
OXYM &2 842 R
70,000& = 78 » 7004 3,430 2,450 980
OXYN 22 Q28 HH
40,000& = 78 » 18I0 & 5,040 2,880 2,160
204 22 FH| 21,600 21,000 600
03 SR 21,600 21,000 600
QNR=& 100,000 » 249¥ » 9% 21,600 21,000 600
S8 Mg = 213,481 212,581 900
(BZ=)XEM Mg 2AH(E) 188,631 187,731 900
201 2Bt Yl 151,130 137,730 13,400
01 AtR 2t 2l | 45,520 32,120 13,400
OXNEAN g =& 45,520 32,120 13,400
OXMEX A 75,000&  36&F Xt 2,700 0 2,700
Os= JAAM 75,0002 » 304 &t 2,250 0 2,250
OMyg &7 o= 75,000& » 50&f Xt 3,750 2,550 1,200
OgsEIXHLHZ 75,0008 * 304Xt 2,250 0 2,250
O30 ME === 600,000& * 702 * 25% 10,500 8,100 2,400
OHIAEE =8 1,000& = 2,5000H 2,500 2,000 500
OHEHNE Z+E28 84 M
70,000& = 63 » 1090 & 4,200 2,100 2,100
303 Z& 3 37,501 50,001 212,500
01 Z&3 37,501 50,001 212,500
(ORSECERNg= | 37,501 50,001 A 12,500
O2011E & o1& 2 7,455,000 7,455 19,955 212,500
HY2IZH (EL RN 38,171 19,835 18,336




2N G
Sl

=k
HE: HYRIFL(ELPADD)
2

& 123l (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
Jl234l 38,171 19,835 18,336
(H#=)J12d4l 38,171 19,835 18,336
201 LB-2d| 11,836 7,340 4,496
01 At 22l 11,836 7,340 4,496
OJlegesdasZ 4,847,000 4,847 3,305 1,542
OJI=ZHl (=&dl) 5,184,000 5,184 3,780 1,404
OYRHHEE 150,000& * 9K 1,350 0 1,350
O&F=DIdE 50,000& = 404 & 200 0 200
202 04l 15,450 11,370 4,080
02 M0 8,160 4,080 4,080
OMEAHN= &=+ ESZ0HI 8,160,000 8,160 4,080 4,080
203 H R =&l 2,175 1,125 1,050
04 EAN2IHR2F=EHI 2,175 1,125 1,050
©J| & % (302! 0I3dt) 2,100,000& 2,100 1,050 1,050
405 TtHabF S| 8,710 0 8,710
01 AL EFSFHSHI 8,710 0 8,710
OZAZeHII| 2,500,000& * 1K 2,500 0 2,500
ogd A 1,000,000& * 1CH 1,000 0 1,000
(OFSE=R=Enp] 300,000& = 1CH 300 0 300
OZctAEE M0 650,000&  1CH 650 0 650
(OFSPAFARENT 500,000& = 1CH 500 0 500
o2 &el gl 700,000& « 4CH 2,800 0 2,800
OxgdED 300,000& * 1CH 300 0 300
028 MFRAEZDI 160,000& 104 160 0 160
O&EZEDI 50,000& * 10CH 500 0 500




== A
HOE o & ALY N A
201449 = 1 3 Letal A A
PN EYT SHHAMY
FM: QAL ~F Fa
o AMAL NEHA (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
SEP AL 1,848,334 555,248 1,293,086
AL =F S 12,647 11,167 1,480
AMAL NEEH 10,047 8,567 1,480
(EF )M A NCSEA(E) 10,047 8,567 1,480
201 Let24dy] 1,710 1,110 600
01 At 2teltl 1,710 1,110 600
OMA A S QAN A
1002 * 3,00004 » 3& 900 300 600
202 oddl 6,800 6,120 680
02 X 6,800 6,120 680
OAMZB2ZAE BHAYI
170,000& * 4% » 103 6,800 6,120 680
405 TtHabF S| 200 0 200
01 AL EFFHSHI 200 0 200
OSHAE =HE otolAgA Y
200,000& = 14 200 0 200
St MRS oS TAEE =4 613,438 528,908 84,530
NAZIGHEQ SAHME ™Y 63,280 52,480 10,800
(F=)stZERd=2 2U(E) 55,940 45,140 10,800
201 LBH2d| 35,640 24,840 10,800
02 =224l 35,060 24,260 10,800
OEZNERYEZ2 LUANMN &€& 2ERZ 35,060 24,260 10,800
Og et 2703 * 30,0004 = 23l 16,200 10,800 5,400
O==% 2703 = 30,0004 = 23| 16,200 10,800 5,400
WEE MEEA =4 539,544 467,644 71,900
(EF: )20 2SI SX(E) 41,250 40,050 1,200
201 LBH2E| 22,050 20,850 1,200
02 =224l 5,520 4,320 1,200
OZ ANt RXE % 1,200 0 1,200
OZ AlStHI 2t M 1,000,000& * 14l 1,000 0 1,000
OZ Al Stoet =2l 200,000& 14! 200 0 200
(H=)0t2 34 L M0 28 2EHE) 465,650 394,150 71,500
101 @124 dl 132,644 73,644 59,000
04 D12t Z2XREES 132,644 73,644 59,000
Ot A2 A AFtDAl XN 132,644 73,644 59,000
ooy 50,0003 = 22 = 24 «53 132,000 73,000 59,000
201 LBH2E| 279,006 278,506 500
01 At 2t 2l 11,838 11,338 500




SN EEHT BHIAND
I oD RS OISHS TASY X4
SHel S MBEHZY X4 EEH-E)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Hwsz
OFAXYPY AT ME  500,0008 « 14 500 0 500
401 Al HI L 2 THYI 16,000 4,000 12,000
01 A&l 16,000 4,000 12,000
OLSHEAXD 20240 &3
12,000,0008 * 14 12,000 0 12,000
(HR)MEHIIS +2(2) 15, 150 15,950 800
201 et2 Y| 15,150 2,700 12,450
01 AbR 22l 13,250 0 13,250
OMDIEYEI FD2 MH(BSBH 3)
450,0002 * 334 * 3HS 4,050 0 4,050
OMADISHEI ZDEX HH(V2IR B)
9201 4 * 100,000 9,200 0 9,200
02 22| 1,900 2,700 800
OMESEHBEXTL LTV SRS
100,000 * 20§ * 8% 1,600 2,400 800
401 Al HI L 2 THHI 0 13,250 A 13,250
01 A&l 0 13,250 A 13,250
OMDIEYEI D2 MF(BSTF )
02 0 4,050 4,050
OMADISHEI ZDEX HH(V2IE )
02 0 9,200 ~9,200
BN e Bel 9,674 8,784 890
(BF)Q4 - BBAIE STB2I(2) 2,384 1,744 640
201 Lpte | 2,284 1,644 640
IEEEIT 1,600 960 640
OMQATHEHRIAIE HACH MABX RO
80,0002 * 104Xt 800 560 240
OMABI=HBAAE BAAS HA (H2IHEL
=) 10020 * 2,00004 * 4% 800 400 400
(BF)H=2 ISAA 22l(2) 1,050 800 250
206 TH 2t 1,050 800 250
01 ME bl 1,050 800 250
OB HHIS(S#) 20,0008 * 5074 4 1,000 750 250
BAQHSH YEAAE e 940 0 940
BIZEiA 2Al 25 940 0 940
201 ete | 940 0 940
01 At el 750 0 750
OXNEHHE(RS) M= 5008 « 50004 + 35 750 0 750
02 222 190 0 190
OHFHESKA SIRB 1,908 * 1002 190 0 190
BHSAPH (2L BB 1,222,249 15,173 1,207,076




2N
X ZH -
L= B

el

2T AN
YHSYHH (SR SFAMD)
o=

A B SA(BA) - NRAY - BES 0f o kL RS2
Jl=2&dl 25,585 15,173 10,412
#F)l=2dl 25,585 15,173 10,412
201 2erE Sl 12,905 9,998 2,907
01 At 2t el b 9,992 7,085 2,907
QJllzgesdastl 5,672,000& 5,672 3,305 2,367
OJIEZ I (S&dl) 4,320,000% 4,320 3,780 540
202 o4l 6,480 4,050 2,430
01 =LHOIHI 6,480 4,050 2,430
OJ1=Ztl 6,480,000& 6,480 4,050 2,430
203 2R =AYl 2,100 1,125 975
04 N2 RF=AH| 2,100 1,125 975
O&Z eI (302 0I3t) 2,100,000& 2,100 1,050 1,050
o= 0 0 75 ATh
405 At&tF S HI 4,100 0 4,100
01 M HLESFH=H 4,100 0 4,100
OZctZeHdl 7 2,500,000& * 1CH 2,500 0 2,500
Og2xclE Itilct 7 500,000& = 1CH 500 0 500
ogRMeE MEJl 7Y 300,000& * 1CH 300 0 300
oddzLl FY 300,000& * 1CH 300 0 300
O&ZSIl 7 50,000& = 10CH 500 0 500
elsE2al 1,196,664 0 1,196,664
Q2] 1,196,664 0 1,196,664
101 121 H] 1,196,664 0 1,196,664
03 RIHLZ 22> 1,196,664 0 1,196,664
ogzdclE UdFY 1,193,664 0 1,193,664
oJlz2 1,656,460 » 628 * 4 410,803 0 410,803
odd= 245,082 0 245,082
Sl sy

1,976,460% * 50% * 23| * 629 122,541 0 122,541

-HEeeyl
1,976,460% * 50% * 23| * 629 122,541 0 122,541
oda+¢ 233,015 0 233,015
-SEREMSE 00,0008 * 62% x 43 22,320 0 22,320
-Hg&dsE 70,0008 * 628 = 4 17,360 0 17,360
-d2gotdts 80,0002 = 628 * 4 19,840 0 19,840
-tEsg 24,800 0 24,800
B < Xt 40,0002 = 629 * 4 9,920 0 9,920
e 20,000% ~ 186% = 42 14,880 0 14,880
-AESHIEE+E 8,678 0 8,678
nssd 433,880 » 10& = 23] 8,678 0 8,678




SN EHT BAAMD

HE: HYSYAH (S BYAND)
Sel: o2y CERED

SA-EY.B(BH) - PN - BES 04l &4 4 p/E-L HI RS2
SR 140,017 0 140,017
gaaesg
103,35020 * 62% * 42 * 43l 102,524 0 102,524
CAZEEIAY 151,1808 * 628 « 4% 37,493 0 37,493
SETIESYN 113,205 0 113,205
- C = 160,0008 * 62% * 4% 39,680 0 39,680
S=EE Bl
1,976,460 * 60% * 628 * 13l 73,505 0 73,525
SE YNV 34,240 0 34,240
-9l A bl 80,0002 * 62 * 4% 19,840 0 19,840
-Slgag 50,0008 * 628 * 4% 12,400 0 12,400
2sag 250,008 * 2 * 4% 2,000 0 2,000
OXRI+Y 92,8708 * 628 * 202 115,159 0 115,159
osgazl 6,00020 623 * 202 7,440 0 7,440
OstZ ol =Yl 70,0008 * 628 * 85 34,720 0 34,720
OFUER PN ALE

1,500,000& = 29H 3,000 0 3,000




>
A & 0l & AF 2 E A A
2014HE =A 18 YA FA
H: B57 A8DED
Bu: NARELESAS TAIBEY
ool En0i2te SANEEE Ha (ol @)
SN HB S (3H) - NPAY - BAES 0 &t w/E-F HREZ
g3 A4S 12,793,267 9,627,309 3,165,958
& 825,100 815,100 10,000
| 240,000 30,000 210,000
Al 11,728,167 8,782,209 2,945,958
ANEmgdLds TADIgxd 10,719,827 7,848,344 2,871,483
< 825,100 815,100 10,000
| 220,000 30,000 190,000
Al 9,674,727 7,003,244 2,671,483
S=Z12m0ICHe SAIHEEZ OHE 458,706 451,925 6,781
(EF)E2II8A4 &5 X2 (5) 19,964 13,183 6,781
201 L Er2A | 18,344 13,183 5,161
01 At 22l bl 17,183 13,183 4,000
oNTH, TRHE HIZA L NEHAE
ARt 1,000,000& = 104 » 48 4,000 0 4,000
02 =24l 1,161 0 1,161
OXNERIU(ER) 1,658% * 74 =+ 100 1,161 0 1,161
202 04l 1,020 0 1,020
02 M0 1,020 0 1,020
OEXNEEHY ZARH FH0/Y|
170,000 * 6 1,020 0 1,020
405 TtobFH S| 600 0 600
01 AL EZFH S 600 0 600
OHBE (EXN0ISHHSOIY ¥38) 7Y
600,000& * 1CH 600 0 600
C2ae 10,261,121 7,396,419 2,864,702
& 825,100 815,100 10,000
M 220,000 30,000 190,000
Al 9,216,021 6,551,319 2,664,702
(EF)E23H & RIE(E) 2,627,742 1,050,946 1,576,796
201 ¢er24| 26,005 20,965 5,040
01 AF22t2l bl 11,487 11,247 240
OFE4I ARHERELE ADA)
60,0008 * 4 240 0 240
02 =24l 14,518 9,718 4,800
osStR3 12,000 7,200 4,800
O&z&el Cvald Mgz (Z&E CCTV)
1,200,000& = 10& 12,000 7,200 4,800
206 M= Hl 63,363 53,363 10,000
01 =4l 63,363 53,363 10,000
omwd & 50,000& = 2004 10,000 0 10,000
35 HH&a =S 7,000 5,000 2,000
01 thHaf=8 7,000 5,000 2,000




SA: BEHP ALDED
M XNADEHUNAS TAIIBEY
cGelr T 2oe (el &)
SA-ZH () - HRAY - BES Off &4 I E A Hwsz
OT2AIE AtDEM HHAZ  500,0008 * 143 7,000 5,000 2,000
401 Al H 22| 2,523,274 971,618 1,551,656
01 Al & H 2,515,774 965,960 1,549,814
O2TAIHRI~Z2FAIHE SE2EHIZ A
535,814,0002 535,814 0 535,814
OR22HN~THESSAIL A BT HH 2 A
350,000,0002 350,000 0 350,000
ONEE TZHH SAHA22374R12)
100,000,000&! 100,000 0 100,000
OZMNS 93-1H Xl F8 T 2FHIBAHL=150, B
= 40,000,000 40,000 0 40,000
OZZHHY 30,000 20,000 10,000
OZ 20t EXIE FHI(1500H2)
200,0009 = 15074 A 30,000 20,000 10,000
ONSHELHEIE (CVIRLIEHEY 25
22,000,0002 * 12 22,000 0 22,000
OE2RX 24t 1,350,000 870,000 480,000
oIsNLS 325,000,000€ 325,000 225,000 100,000
OANULe =2 HY) 650,000,000 650,000 350,000 300,000
OZRATAILE SNE S 80,000,0002 80,000 0 80,000
O A Al & H 12,000 0 12,000
O& A& Al 12,000,0002! 12,000 0 12,000
03 Al 2 THHI 7,500 5,658 1,842
OZ2HHIAMY =X 20y 7,500,000 7,500 5,658 1,842
405 XtHAkE S 8,100 0 8,100
01 AL EEF SHI 8,100 0 8,100
OEZ2RNBLAIY =] 5,300 0 5,300
oBmE 1,300,0009 = 1CH 1,300 0 1,300
OgrI| 1,000,00094 = 1CH 1,000 0 1,000
o7l 500,0008! * 1CH 500 0 500
o= ol 1,000,0008 = 1CH 1,000 0 1,000
oot 1,000,0009 = 1CH 1,000 0 1,000
ogiced 500,000 * 1CH 500 0 500
T2 A2 2E 7Y 2,800 0 2,800
O30l et 500,000 * 1CH 500 0 500
ot 1,000,0009 = 1CH 1,000 0 1,000
oYz 600,0008 * 1CH 600 0 600
OH =D 50,0008 = 2CH 100 0 100
OzZtol &t 200,0008 * 30H 600 0 600
()N NSAL () 898,379 848,379 50,000
[ 745,100 735,100 10,000
Al 153,279 113,279 40,000
401 AlEHI 22 HH| 898,379 848,379 50,000




2N
X ZH -
L= B

el

EC7 AMDSH
NARHLESS TADIBES
sz

SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
= 745,100 735,100 70,000
Al 153,279 113,279 40,000
01 Al Hl 892,600 842,600 50,000
OARZXAWLAY 20,000 0 20,000
OAUS DI FHIAFY  20,000,0008 20,000 0 20,000
= 10,000 0 10,000
Al 10,000 0 10,000
OZAHEEZ HEAY 255,000 225,000 30,000
OHIGHS AE2 JH& 2 AH(L=85n, B=8.0m)
130,000, 0002 130,000 100,000 30,000
< 100,000 100,000 0
Al 30,000 0 30,000
(B)TAHECS2 SN (2) 47,400 40,214 7,186
201 et FH| 47,400 40,214 7,186
02 2B 2| 47,400 40,214 7,186
O2BMHUN NAFE2 XGHUHE RA 47,400 40,214 7,186
oIl 6,400,008 * 6% 38,400 32,400 6,000
OFJltE B2l +48  1,300,0008 * 68 7,800 7,020 780
Of+BOWXI RRH 200,008 * 6% 1,200 794 406
(HF)272 XS 2RI A(S) 419,527 182,807 236,720
401 A& HI L= 419,527 182,807 236,720
01 Al&HI 416,800 181,800 235,000
OXSS 859 Xl YR (W 56081 X &)HEHE
2 24 (L=50m) I 0 13,000 A13,000
OXNSS 155 L8 S2INLI| JA
13,000,0002 13,000 0 13,000
OYHN SHL HLIH(2HS 1706-1) 0 0 4,500 £4,500
OUMS 45 36022 S =2 T F Z AH(L=200m,
B=3.5m) 24,500,000% 24,500 0 24,500
OAM2S W1 0pSOHY T H(L=70n, B=2.5
m) 20,000, 0002 20,000 0 20,000
OUTS 105-181X L8 =2 EH(L=230m, B=4
m) 20,000, 0002 20,000 0 20,000
0SS 21081X YR Y42 & X (L=50m)
20,000,000 20,000 0 20,000
O2%2S HPBSMOILE =¥ 262l nH
=9 30,000,000 30,000 0 30,000
0SS 254-281X LB SREN Y SHET
=y 50,000,000 50,000 0 50,000
OJHS Ne-HH2IOILE & IHBHH I
a3 5,000,0002 15,000 0 15,000
OSMS SH2XIOIIE & EHed I J (L=200m)
35,000, 0002 35,000 0 35,000
O=US NEZD ¥ A4 25,000,000 25,000 0 25,000
03 Al & = Ch bl 2,727 1,007 1,720




2N
X ZH -
L= B

el

EC7 AMDSH
NARHLESS TADIBES
sz

SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
OAFZ XYGINRIIAY AL
2,727,000€ 2,727 1,007 1,720
(FF)NHANES L 52 RAUEX(E) 1,072,349 900, 349 172,000
401 Al HI 2 20| 1,014,929 842,929 172,000
01 A& H| 1,010,000 838,000 172,000
OASH(150HA) L SH2ACIHAANES(19
A) MOt AA 22,000,0008 * 14! 22,000 0 22,000
O==2 & H| 818,000 668,000 150,000
Os2 2 022 KX ELH|
140,000,000 140,000 90,000 50,000
Os2 A& 213 Al 100,000,000 100,000 0 100,000
(EF)HYED WL ZAH(ZBNIS REH]) 793,600 503,600 290,000
401 Al Y2 20| 793,600 503,600 290,000
01 Al&HI 790,000 500,000 290,000
ORI 790,000 500,000 290,000
OXY A TOtE Z AH(L=70m, B=8.0m)
790,000,000 790,000 500,000 290,000
(He)DY SABSAA(E) 502,052 452,052 50,000
401 Al HI 2 20| 502,052 452,052 50,000
01 Al&HI 500,000 450,000 50,000
OS4& 221 HEZAHL=10m) 450,000,000 450,000 400,000 50,000
(HBR)ARD NAMLA(E) 1,034,817 844,817 190,000
X 220,000 30,000 190,000
Al 814,817 814,817 0
401 Al 2 HIZ 20| 1,034,817 844,817 190,000
b\l 220,000 30,000 190,000
Al 814,817 814,817 0
01 A& H| 1,030,000 840,000 190,000
OSAH 24H32| HMEEH SAHEEA)
100,000,000 100,000 70,000 30,000
X 30,000 0 30,000
Al 70,000 70,000 0
OIS AI=12| DISAAZ2 FHZAHAEEHA)
30,000,000 30,000 30,000
X 30,000 30,000
0T H=22 22FH|(H4EH)
20,000,000 20,000 20,000
X 20,000 20,000
0O2ES A2z W HHISAMH(LEEH)
20,000,000 20,000 20,000
b\l 20,000 20,000
0EE 2222 YHEX(LEYH)
50,000,000 50,000 50,000
b\l 50,000 50,000




SA: 2 ALDED
HE: NP EUHSIS TAIBEA
ol R (S &S)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
02&S i+l SRZADA(LH)
40,000,000 40,000 40,000
T 40,000 40,000
AKX &R 292,000 0 292,000
401 A2 HIL 2 TH Y] 140,000 0 140,000
01 Al&H 140,000 0 140,000
O©IIEHAlE & X 140,000 0 140,000
ORM&ZH| JIBHAIA & XI = AH(25m+30m)
140,000,0008 * 14! 140,000 0 140,000
405 Xt&HE S| 152,000 0 152,000
01 MY SZ3 S| 152,000 0 152,000
OM& =Y P 152,000 0 152,000
Ogstzs mE| 59,000,0008 * 17 59,000 0 59,000
Ogstzts MEE3(20,0000)
38,500,0008 * 27| 77,000 0 77,000
O50lAE 16,000,0008 * 17| 16,000 0 16,000
e IEHY L =X HE 1,338,116 1,289,116 49,000
2. BoS KA BE 1,338,116 1,289,116 49,000
(B=))I2E0s 22|(2) 1,135,650 1,086,650 49,000
201 Yy | 915,890 891,890 24,000
02 ZZ2YH| 886,080 862,080 24,000
0ZBOUAS HIIQS 876,000 852,000 24,000
oJN=2s 8,2002 * 5,000 * 122 492,000 468,000 24,000
401 A2 HIZL 2 TH Y| 201,260 176,260 25,000
01 Al&Hl 200,000 175,000 25,000
ONRLEOUE B4 200,000,000 200,000 175,000 25,000
My - WEe Mzs R 633,520 473,624 159,896
! 20,000 0 20,000
Al 613,520 473,624 139,896
T - Tl ol 2 ArY 66,022 59,122 6,900
(B=)Mu 2 Moh 22l (=) 66,022 59,122 6,900
405 Xt&HE S| 6,900 0 6,900
01 LS 25 S| 6,900 0 6,900
ORaAE %9 &X 4,000,00080 * 174 4,000 0 4,000
Odt4+E B42 NP L ARET 22 29 2,900 0 2,900
O3tnl et 500,0008 * 2 1,000 0 1,000
OUlbI 01 & 300,0008 * 2 600 0 600
OwaD 600,000 * 1CH 600 0 600
O ED| 50,0002 * 274 100 0 100
OFIIFT 100,0008 * 6 600 0 600




2N
X ZH -
L= B

el

(o

N

S AL4nsS
= o2l Mz 2E
d-Bi=AE e A Y

ol 2l

SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
ot - i =AIE A AR 567,498 414,502 152,996
| 20,000 0 20,000
Al 547,498 414,502 132,996
(BF)otd - th==Ald EHl 2 RIA22(8) 201,388 94,272 107,116
201 Zet24] 9,396 3,300 6,096
01 AF22t2lHl 8,500 3,300 5,200
OctEZAIE & Xz
1,000,000&  10H = 3& 3,000 0 3,000
Ootd L EAL MA ZBHE FHILXZ(SADI
) 550,000& = 100 = 10€ 5,500 3,300 2,200
02 =224l 896 0 896
Ot ZAE Xt FFU
1,658% = 64 =+ 90¥ 896 0 896
202 Oddl 1,020 0 1,020
02 M0 1,020 0 1,020
osgdALS 170,000& * 6 1,020 0 1,020
401 Al HIZ 201 8] 190,972 90,972 100,000
01 A& HI 190,000 90,000 100,000
Ootd KA 2l ALY 80,000,000 80,000 50,000 30,000
OAUWLA otd 212 E=Hl 70,000,000 70,000 0 70,000
(B=)ot=TAlE &JHl € &2 (E) 181,110 165,230 25,880
401 A& HIZ 201 Y| 181,110 165,230 25,880
01 A& HI 180,000 154,120 25,880
Oobtsst=& EFHl & |Xl22l 100,000,000 100,000 40,000 60,000
OANULH otk 258 2=+ 80,000,000 80,000 0 80,000
OXss(1es) 0tsdtx=% F 4l 2 AH(L=120m,
D=800mm) 0& 0 114,120 A 114,120
(HA)Aotd HUIA(E) 20,000 0 20,000
M 20,000 0 20,000
401 AIEHI L 20HEI 20,000 0 20,000
M 20,000 0 20,000
01 A& HI 20,000 0 20,000
OZUHHE EHEAGHE FUIAL(HEA)
20,000, 000& 20,000 0 20,000
M 20,000 0 20,000
HE2AIH(EL 7 HLD) 101,804 16,225 85,579
=3t 33,351 16,225 17,126
(BF)J123H(5) 33,351 16,225 17,126
201 et 22,131 8,425 13,706
01 ArS2t2l ] 9,356 5,650 3,706
OJl=gfsd 233l 5,684,000 5,684 2,842 2,842




PN EYR ALEDEY
H: HH2IAH(EEF AL
¢l =gl (chel & 9l)
SA-ZH () - HRAY - BES Off &4 JEH Hns2Z
OJIEZ Ul (S4l) 3,672,000 3,672 2,808 864
02 =24l 12,775 2,775 10,000
O&HE CAD T2 2
5,000,000& = 29 10,000 0 10,000
202 o4dl 7,020 6,750 270
01 = LH Yl 7,020 6,750 270
©J1=3Hl 7,020,000& 7,020 6,750 270
203 PR =&l 2,100 1,050 1,050
04 EAN2IHR2F=EHI 2,100 1,050 1,050
©J| & % (302! 0I3dt) 350,000& » 6 2,100 1,050 1,050
405 TtobF S| 2,100 0 2,100
01 AL EFHSHI 2,100 0 2,100
OMNRA ZEes3S P2Y 2,100 0 2,100
O« 21 50,000& = 10CH 500 0 500
O’ =21 600,000& = 1CH 600 0 600
OZ2IEH(ZEH) 500,000& « 2CH 1,000 0 1,000
ol 2t 2 o bl 68,453 0 68,453
ol | 68,453 0 68,453
101 @14 Hl 68,453 0 68,453
03 2 HA2ZRE S 68,453 0 68,453
okzE+¥ 66,453 0 66,453
Ood=s(It=3) 33,437 0 33,437
214 Xt 2,536,660 * 1H » 48 10,147 0 10,147
-1E Xt 1,995,000 » 2% » 4& 15,960 0 15,960
-84 Xt 1,832,500& » 1H » 48 7,330 0 7,330
o= 14,654 0 14,654
-tEg 1,280 0 1,280
i < Xt 40,0002 * 4% * 48 640 0 640
=Hl5 20,0003 = 8H » 43 640 0 640
-grE g 100,000& * 19H » 43 400 0 400
—HEAIE2ay
8,950 * 20AI2t » 4H * 48 2,864 0 2,864
-ort2E2ag
8,950 » 150% *» 10AI2+ » 4 » 43 2,148 0 2,148
-5d2R=dg
8,950& * 10AI2t » 4 * 48 1,432 0 1,432
-Hxtag
29,790,000 / 3652 * 4% * 20 6,530 0 6,530
OXHE = 1,792 0 1,792
-1 SsH 448,000& = 23| » 29 1,792 0 1,792
OYEF It
29,790,000& / 12& * 60% * 49 * 13 5,958 0 5,958
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SN FH-SA(EN) - MBAY - BES 0l &F 24 p/E-E" HlnE2
SEFLY
29,790,000 = 10% / 128 » 4¥ « 48 3,972 0 3,972
OIJtA X &bl 175,000& * 48 » 43 2,800 0 2,800
O=&l 120,000& * 4¥ » 43 1,920 0 1,920
Oul SH| 120,000& » 4% x 43 1,920 0 1,920
OR4&X XZH| 500,000& = 49Y 2,000 0 2,000
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206 M =8l 4,568 880 3,688
01 M=z Hl 4,568 880 3,688
Osgds FHes MM 2 3,688 0 3,688
O&#=z ZHJ| 100,000& 100 = 25 200 0 200
o 40,0008 * 1H = 28 80 0 80
Otit = 30,000& = 20 * 25 120 0 120
OH M 15,000% = 200 * 28 60 0 60
0373l 40,0002 = 14 » 28 80 0 80
OL&etoly 20,0008 = 290 * 3% 120 0 120
OAWY 12,000& = 2§ * 335 72 0 72
)= 13,0008 = 290 » 28 52 0 52
OsXt 36,0008 = 200 * 23 144 0 144
OOoFZ =7 50,0002 * 5¢ 250 0 250
ogdd =dss 10,0003 * 504 50 0 50
OateH 20,0003 » 204 40 0 40
o2l 60,000& * 204 120 0 120
Ol 25,0003 * 204 50 0 50
OdE(£dS) 30,000& * 304 90 0 90
osze(s2) 20,0003 * 8K 160 0 160
ogd N2IEE HF¥Z 40,0008 » 105 400 0 400
Ot NeIEYE HF¥L 20,0008 » 805 1,600 0 1,600
405 Ap&HFH SHI| 500 0 500
01 MM =S FHSH 500 500
O=8 &84 XNx=HE St
500,000& * 1K 500 0 500
(BZ)20e el 2 a95(2) 18,773 13,634 5,139
201 2Bt Y| 9,142 7,653 1,489
01 At 2t el b 8,642 7,403 1,239
O=2AZDE MU E ESF(28) 1,239 0 1,239
o1z s5() 200& = 5,0000H 1,000 0 1,000
028 S%(a) 100& * 2,3900HK 239 0 239
02 329l 500 250 250
oOHs32d 3¢ I
500,000& * 29 = 1/2 500 250 250
206 M= 8l 4,763 1,613 3,150
01 M=z bl 4,763 1,613 3,150
O=sdg&n= 9= & Jdl J|F 3,150 0 3,150
ozz () 3,000& » 2094 60 0 60
on=l(tisxs) 7,000& = 2004 140 0 140
O8=% MHE 3=¢E % 25,0008 » 2074 500 0 500
OCEEI(O=HE) 80,000& » 504 400 0 400
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osgE % 2018 2 5,000& = 104 50 0 50

O NRIEE HEFZL 40,0008 * 50= 2,000 0 2,000

405 TtokH S| 500 0 500

01 AL ESFH SH 500 0 500
O=sdgZ1n= AN=HHEZ Sthiet

500,000& * 1CH 500 0 500

HY2HZH(EE T 2= 22,115 10,799 11,316

Jl=&l 22,115 10,799 11,316

(E=)J1223y| 22,115 10,799 11,316

201 Let24dH] 12,455 6,239 6,216

01 At 22l bl 8,060 4,692 3,368

OJlegesdasZ 4,172,000 4,172 2,424 1,748

OJI=ZHl(=2&l) 3,888,000& 3,888 2,268 1,620

02 32224l 4,395 1,547 2,848

o332gHl 4,233 1,385 2,848

oget 2703 * 2508 » 63& 405 0 405

OsJl 1,900& * 2508 = 63 2,850 1,140 1,710

osiegsa 1,630& * 100 * 63 978 245 733

202 044l 7,560 3,510 4,050

01 SLHOYI 7,560 3,510 4,050

OJIEZ 7,560,000 7,560 3,510 4,050

203 ¥ =&l 2,100 1,050 1,050

04 FENSEHE=LH| 2,100 1,050 1,050

OJIZF=&HI(302! Olat) 2,100,000& 2,100 1,050 1,050




